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nply supported beam AB of span 5m is shown in following fig. 15 L3 | CO4 b 0%
the deflection under the point load by the strain energy
Take EI=6000kNm’. - *,‘qi |
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bDerive the equation for strain energy due to axial load and bending. 10 L2 | CO4
OR
aDetermine the horizontal deflection at point D for the bent frame 15 L3 | CO4
wn in following fig by Castigliano’s theorem. Assume
=16x10'kNm’. J&c kN
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bl bgﬁmnn the deflection under the load point of the beam shown in| 10 L3 [CEs
| | [following figure. Take EI=2800kNm?, Use unit load method.
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OR

cross sectional area of the members of the truss is as indicated in
following fig. Find the vertical deflection of joint C. Take
00kN/mm’. Use Castigliano’s theorem.
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